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for (1=0;1<=5;1++)
printf( “%3d\n” , 1);
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for(1=1;1<=10;1++) %k % ok k& k K k%

printf ( “*”7);
for1=1;1<=4;1++)

printf (“%d \n” , 1);

for(1=3.5;1<=5;1+=0.5)
printf (“%3.1f\n” , 1);

for(1=°A;1<=°F;1+=2)
printf (“%c \n” ,1);

int x=2, n=5; 4
for(1=1;1<=n;1++)
X=2%X;

printf(“%d”, x);
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#include <stdio.h>

#include <conio.h>

int main() 0.50
d 1.00
float 1; 1.50
clrscr(); 2.00
for1=05;1<=35;1+=0.5) 2.50
printf(“%6.21\n” ,1); 3.00
3.50

getch();

return O;
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#include <stdio.h> o sie
#include <conio.h> > =ST,1S o0 Loy Ch
int main() ch =a, code =97
{ ch =b, code = 98
char ch; ch =c, code =99
ch =d, code = 100
for (ch="*a’; ch <=°z"; ch++) ch=e, code =101

printf(“‘ch = %c, code = %d\n” , ch,ch); |ch=1, code= 102

ogetch(); ch =1z, code = 122

return 0;
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#1nclude <stdio.h> ool
#1include <conio.h> el Slael slaws Klas a5 o n
int main() oy yusiin
! aél> 005 ,las 1
int 1, sum=0, num ; slacl & goxe SUM
tloat ave; ol ave
const int n=5; 39l oo 0dilgs 45 g3ae NUM
clrscr(); 9,5
for(1=1;1<=n;1++) enter number 1: 12
{ enter number 2: 13
printf(“enter number %d :” , 1); enter number 3: 14
scanf(“%d”, &num); enter number 4: 15
sum += num; enter number 5: 16
} the average 1s : 14.00

ave = (float) sum/n;
printf(*“\n the average 1s : %6.21”, ave);

getch();
return O;
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for (1=0;1<=2;1++) { - j
0 1
2
3
for (J=1;)3<4;jtt) { l l
2
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for (1=1;1<=8;1++) HHEAX
for (J:1'J<: )
printf(“*”);

% 3k % %
% 3k %k 5
} % 3k % %k %k
printf(“\n”); s % % % %
} % 3k %k %k %

X 3k 3k %k 3k

) X
X %k
X XK kK
X K kK kK
XK kKKK
XK kKKK XK

XK kKKK XKX

KKK KKXKXKXK
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for (1=1;1<=8 +) 4 *
for (j=1; J<—1,J+>{ -
6699 ***
printf(“*”); o
} X Kk %k Kk XK
printf(“\n”); % % % % % %
} % 3k %k %k % %k K

X 3k 3k kK 3k 5k %k %
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#include <stdio.h> Lo ysie
#include <COHi0.h> laydol~ (_gLaaoJJ)Lo.ij 1
int main()
] 4 5 6 7

SR 6 8 10 12 14 16

nt 1,]; g 12 15 18 21 24

| 12 16 20 24 28 32
clrscr(); 15 28 25 3@ 35 40

21 28 35 42 49 56
29 32 40 48 5b b4

for(1=1;1<=10;1++) 27 36 45 54 63 72
20 30 40 50 60 70 80

{ any key to continue . . .
forg=1;)<=10;)++)
printf(*“%4d”, 1*);
printf(*“\n”);
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getch();
return O;

j
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#include <stdio.h> o asiie
int main() S5 adl> od e 1
! 0l 0dilgm> dae NUM
long 1nt fact; sae b,e:51 fact
int 1, num ; > 9y
clrscr(); Enter a number : 5
Factorial 1s : 120
for( ; ;) Enter a number : 8
$ Factorial 1s : 40320

printf(“\nEnter a number : );

scanf(“%d” , &num );

fact=1;

for (i=1;i<=num ;it++)

fact *= 1;

printf(“Factorial 1s : %I1d”, fact );
j
getch();
return O;

j



LIS Sles

u.:‘ )‘ oolaw! b MGA for Lgc\.ﬂ} A (G Py Lg).ad.u_eLL:.u‘ LS 7&1.0.9# ASS ®
w2 Ll Ole ais b g0 oS> a5 5 adsl Jlode slacand jo olsi o Xloe
3,5 S

g o ol el &1 o 5 5 (538,51 i 4 Slle o
Jie o

for(1=0,m+=1;1<10;1++, m++)
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| +%++1/8+1/16 + ...

#1nclude <stdio.h> ool
#1include <conio.h> Dl 08) g Jb a5 e olaws b pl p NUM
#define num 6 2 yiie
int main() Jb o 0 ales sloss count

{ 5L 40 O Fgezme SUM

int count; S 7y Mge X
float x , sum ‘

1.0000, when count = 1

for(sum=0,x=1.0, count=1 ; count <=num ; count ++ , X *=2) 1.5000, when count = 2

{ 1.7500, when count = 3

sum +=1/x ; 1.8750, when count = 4

printf(“sum = %7.41f, when count = %d\n”, sum, count ); 1.9375, when count = 5

} 1.9688, when count = 6
getch();
return O
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